
CS 378 Lecture 13

CKY
, Dependency

Announcements
- 1+2 back

,
solutions posted soon

- A-3 due Tuesday
- Midterm : review next class
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Vp → VBZ PRP
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PRP - it
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log (1/2)=-1



-¥f÷ : PCFG
sentence I

Output : argmax PCTII)
T most lively tree for
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base : Tlisi -4 ,X)= log Plwilx)

recursive :

T( i,j , ×)=
Max Max

K :i<Kaj ✗→ ×, ×, [ log P(✗→✗a)
split point rule

+1- [ i,K, 4) + T[k,j , XD)
T: ten ✗ ten ✗ nun symbols
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the child raises it
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Poll
5: -1

- -

①
NP : -1 - up :O

NN :O
NNS :O NNS :O

ppp :OVBZ :O VBZ :O

child raises raises it

② Add VP→vBt NNS

decrease up > VB -2 PRP

ve

the child raiesrai
PRP → raises

Time complexity : sentence length n
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